 EQ \b(\f(1;4x\s\up8(2)-y\s\up8(2)):\f(2x+y;\b(y+2x)\s\up8(2))-\f(2x-y;4x\s\up8(2)+2xy))\f(2x+y;2y\s\up8(2)) = EQ  \b(\f(1;4x\s\up8(2)-y\s\up8(2))\f(\b(y+2x)\s\up8(2);2x+y)-\f(2x-y;4x\s\up8(2)+2xy))\f(2x+y;2y\s\up8(2)) =

= EQ  \b(\f(\b(y+2x)\s\up8(2);\b(4x\s\up8(2)-y\s\up8(2))\b(2x+y))-\f(2x-y;4x\s\up8(2)+2xy))\f(2x+y;2y\s\up8(2)) = EQ  \b(\f(2x+y;4x\s\up8(2)-y\s\up8(2))-\f(2x-y;4x\s\up8(2)+2xy))\f(2x+y;2y\s\up8(2)) =

= EQ  \b(\f(2x+y;4x\s\up8(2)-y\s\up8(2))-\f(2x-y;2\b(2x\s\up8(2)+xy)))\f(2x+y;2y\s\up8(2)) = EQ  \b(\f(2x+y;\b(2x-y)\b(2x+y))-\f(2x-y;2\b(2x\s\up8(2)+xy)))\f(2x+y;2y\s\up8(2)) =

= EQ  \b(\f(1;2x-y)-\f(2x-y;2\b(2x\s\up8(2)+xy)))\f(2x+y;2y\s\up8(2)) = EQ  \b(\f(2\b(2x\s\up8(2)+xy);\b(2x-y)2\b(2x\s\up8(2)+xy))-\f(\b(2x-y)\s\up8(2);2\b(2x\s\up8(2)+xy)\b(2x-y)))\f(2x+y;2y\s\up8(2)) =

= EQ  \f(2\b(2x\s\up8(2)+xy)-\b(2x-y)\s\up8(2);2\b(2x-y)\b(2x\s\up8(2)+xy))\f(2x+y;2y\s\up8(2)) = EQ  \f(2\b(2x\s\up8(2)+xy)-\b(4x\s\up8(2)-4xy+y\s\up8(2));2\b(2x-y)\b(2x\s\up8(2)+xy))\f(2x+y;2y\s\up8(2)) =

= EQ  \f(\b(4x\s\up8(2)+2xy)-\b(4x\s\up8(2)-4xy+y\s\up8(2));2\b(2x-y)\b(2x\s\up8(2)+xy))\f(2x+y;2y\s\up8(2)) = EQ  \f(4x\s\up8(2)+2xy-4x\s\up8(2)+4xy-y\s\up8(2);2\b(2x-y)\b(2x\s\up8(2)+xy))\f(2x+y;2y\s\up8(2)) =

= EQ  \f(6xy-y\s\up8(2);2\b(2x-y)\b(2x\s\up8(2)+xy))\f(2x+y;2y\s\up8(2)) = EQ  \f(\b(6xy-y\s\up8(2))\b(2x+y);4\b(2x-y)\b(2x\s\up8(2)+xy)y\s\up8(2)) = EQ  \f(\b(6x-y)y\b(2x+y);4\b(2x-y)x\b(2x+y)y\s\up8(2)) = EQ  \f(6x-y;4\b(2x-y)xy) 
